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I I skelch ihe even ud odd pdr of rhe signak snown in

Fis.Ql(a)
b- Detmi.e whelher the 6llNinB siElal is periodic or

/ nri / ntr\
e6rod (n)=ms[;]si'(TJ
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ErpRs r(rrur(Ifus(rr if (rl md e(t) m shown in
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Fourth S€mesterB.E. Degree Examination, June/July 2017
Signals and Systems

Time:3 hrs. Md. Mrks:3o
Nole. Answd .ry FM lull q!6tions choo.,rg orc Iu[ qu6tlon arom 6ch module
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F s. Ql(b)

Fis Ql(c).

Fis.Ql(c)

OR
D.lemine wlclier lhe following syrem .re nmory les, coual. li@ inlditnt,
$abre. i) {i) = i x(n) ii)(r=x(r2).
For the sienal x(0 md ,(t) snoM in Fis Q2(b) sketch the fo llowiDg sismh,
i) x(t+l) y(t 2) ii) (t).y(t-l)

Fig. Q2(b)
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i) r(n).th,(n)+uii)l= x(n).hL(n)+x(n).hr(n)
A

") \(n)'dnr=u \rk).

conpure rhe convolution sun orx(r) = u(n) u(n 8) md h(n) = t(n) -
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OR
Slale ed prcve the ssociative lnleeEl and comul iv. propenies ofcoNotuliol

comp,re E col\ ohtDo DresEl or x(lr .u(U u( 2)tu rr) . u(rl

!!pdde3
Nhsr{rems conHEd s snown in Fb. Q5(a). Find rhc opeBro!
followinE sub syslem opdalos. (0.{ M'dc)

A slslen onsiss of sveial
H elatln( r(t) io {t) ior rh.

H4

Delemine wndher lhe follovin8 sysrerc de6.ed

i) h(r) =.':' u(t l) i, h(n) = 2utnl - 2u(n 5)
Evalu.re rhe $ep rspo.@ foi ti. l-Tl syshs

Bro's. i)h()=(t+D u( I) il) h(.)=

OR
$ate tne aotlowing propenies orCTFs. , Time shin
iii) Linearily iv) CoNolurion v) FEquemy shili
Detemin. the DTFS mefficients for lhe signal snoM

,(i.l

IlpCde4
Srate ond prcle the following propenies i

i) y(t) = n(1)'x(r) eir+y(iw) = a(iw)H(iw)
d..tr, -r(o+rw\lJ!)

by thei impulse responses e 6usal,

(06 rrk)
6y lhc lollovin8 inpuh.

(06 Md')

ii) Difaerenriation in rine domin
v, smlin8. (M ii*)

in Fis.Q6 (b) aid als rlor x(t)iod
(l0MrrD

[i)"*,
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Iind DTFI oIlh. following sigMls.

D r(n)=l!2,1,2,1I iD i(n)=l: uinl.

OR
sF.i& the Nyquist nre for the following siguls
i) &t) = sin (20od) ii) x,(t) = sii (20h) + @s (40h).
Use partial fracrion exp6Bio.lo detmine lhc tim doMi.

-iw, x( rw) = -:--:---:--

ii).u*)=-j-
Iind FT ofli. sieml x(t) = er'u(t 3).

(c Mrtu)
siamlr coE€srondine to rhe

f49due5
r. Exolair prcDdIies ofROC wilh .Bttpl..
b. Detmine th. z-rmft)m ollhe 6lowing sigmls

,r <o=(i)'"io [j)"". ,;

,r <o="(j)<o

OR
10 !. Find rhe lnne domin siB@L mftsponding to lh. 6llowing z 1r nsfom-

ti)L/
(, i.")( ;. )

b. Ddemine the tuftr fircrion a.d thc idDuke spoe for the 4Ml
deribed 6y tte diflrerce .quariotr

v(n) -:ytn - lr-:yin - 2) = -x(n)+2(n -0


